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* A line of traffic moving at a speed of 50 km/h and a density of 32 veh/km is stopped for

50 sec at a red light. Calculate (1) the velocity and direction of the stopping shock wave,
(543) (2) the number of cars stopped during the 50 sec of red. (104}) Assume a

jam density of 155 veh/km.
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» A 2.4 m wide truck with a center of gravity at a height of 1.6 m above the pavement is

traveling on a circular path of radius R = 150 m and superelevation e = 0.06. Determine

the maximum safe speed to avoid both slipping’ and overturmng, assuming that the
coefficient of side friction is 0.2. (15%-)







